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QUESTION 1

What is the result of carrying out an activity, following a process or delivering an IT service known as? 

A. Outcome 

B. Incident 

C. Change 

D. Problem 

Correct Answer: A 

 

QUESTION 2

Which one of the following contains information that is passed to service transition to enable the implementation of a
new service? 

A. A service option 

B. A service transition package (STP) 

C. A service design package (SDP) 

D. A service charter 

Correct Answer: C 

 

QUESTION 3

Which of the following is NOT an objective of service transition? 

A. To ensure that a service can be operated, managed and supported 

B. To provide training and certification in project management 

C. To provide quality knowledge and information about services and service assets 

D. To plan and manage the capacity and resource requirements to manage a release 

Correct Answer: B 

 

QUESTION 4

Which one of the following includes four stages called Plan, Do, Check and Act? 

A. The Deming cycle 
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B. The continual service improvement approach 

C. The seven-step improvement process 

D. The service lifecycle 

Correct Answer: A 

 

QUESTION 5

Which one of the following is the BEST definition of the term \\'service management\\'? 

A. A set of specialized organizational capabilities for providing value to customers in the form of services 

B. A group of interacting, interrelated, or independent components that form a unified whole, operating together for a
common purpose 

C. The management of functions within an organization to perform certain activities 

D. Units of organizations with roles to perform certain activities 

Correct Answer: A 

 

QUESTION 6

Which one of the following is the CORRECT set of steps for the continual service improvement approach? 

A. Devise a strategy; Design the solution; Transition into production; Operate the solution; Continually improve 

B. Where do we want to be?; How do we get there?; How do we check we arrived?; How do we keep the momentum
going? 

C. Identify the required business outcomes; Plan how to achieve the outcomes; Implement the plan; Check the plan has
been properly implemented; Improve the solution 

D. What is the vision?; Where are we now?; Where do we want to be?; How do we get there?; Did we get there?; How
do we keep the momentum going? 

Correct Answer: D 

 

QUESTION 7

Which of the following is NOT a valid objective of problem management? 

A. To prevent problems and their resultant Incidents 

B. To manage problems throughout their lifecycle 

C. To restore service to a user 

D. To eliminate recurring incidents 
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Correct Answer: C 

 

QUESTION 8

Which process would be used to compare the value that newer services have offered over those they have replaced? 

A. Availability management 

B. Capacity management 

C. Service portfolio management 

D. Service catalogue management 

Correct Answer: C 

 

QUESTION 9

The design of IT services requires the effective and efficient use of "the four Ps". What are these four Ps? 

A. People, process, partners, performance 

B. Performance, process, products, plans 

C. People, process, products, partners 

D. People, products, plans, partners 

Correct Answer: C 

 

QUESTION 10

Which one of the following would NOT be defined as part of every process? 

A. Roles 

B. Inputs and outputs 

C. Functions 

D. Metrics 

Correct Answer: C 

 

QUESTION 11

What is the name of the group that should review changes that must be implemented faster than the normal change
process? 
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A. Technical management 

B. Emergency change advisory board 

C. Urgent change board 

D. Urgent change authority 

Correct Answer: B 

 

QUESTION 12

Which one of the following does service metrics measure? 

A. Functions 

B. Maturity and cost 

C. The end-to-end service 

D. Infrastructure availability 

Correct Answer: C 

 

QUESTION 13

Which two processes will contribute MOST to enabling effective problem detection? 

A. Incident and financial management 

B. Change and release and deployment management 

C. Incident and event management 

D. Knowledge and service level management 

Correct Answer: C 

 

QUESTION 14

Which of the following statements BEST describes the aims of release and deployment management? 

A. To build, test and deliver the capability to provide the services specified by service design 

B. To ensure that each release package specified by service design consists of a set of related assets and service
components 

C. To ensure that all changes can be tracked, tested and verified if appropriate 

D. To record and manage deviations, risks and issues related to the new or changed service 
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Correct Answer: A 

 

QUESTION 15

Which one of the following is the BEST description of a service level agreement (SLA)? 

A. The part of a contract that specifies the responsibilities of each party 

B. An agreement between the service provider and an internal organization 

C. An agreement between a service provider and an external supplier 

D. An agreement between the service provider and their customer 

Correct Answer: D 
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